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TMDSSK3358, Under the OS of the Tl demo board

Navigation receiver

LAN :100M base

EthenetO Socat bridge to Ethenetl

Protocol Length Info

TCP 54 62213 » 7581
TCP 194 7501 - 62213
TCP 1514 7501 -» 62213
TCP 54 62213 » 7501
TCP 6760 7501 - 62213

e

54 62213 » 7581

k ns
54 62213 » 750

194 7501 = 62213

1514 7501 = 62213

670 7501 > 62213

|OSt 54 62213 > 7501
54 62213 » 7501

1514 7501 - 62213

814 7501 = 62213

No |ost

[P :192.168.50.133

[ACK] Seq=687206787 Ack=4128477113 Win=65780 Len=0
[PSH, ACK] Seq=4128477113 Ack=687206787 Win=1460 Len=148@
[ACK] Seq=4128477253 Ack=687206787 Win=1460 Len=1468
[ACK] Seq=687206787 Ack=4128478713 Win=65700 Len=@
[PSH, ACK] Seq=4128478713 Ack=687206787 Win=1468 Len=616
[ACK] Seq=687206787 Ack=4128479329 Win=65084 Len=0

5 nt vt 2 ] 7501 3 T ']
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[ACK] 5 128481549 Win=65700 Len=0
[PSHJ A[K] 5eq=4128481549 Ack=687206787 Win=1460 Len=140
[ACK] 5eq=4128481689 Ack=687206787 Win=1468 Len=1460
[PSH, ACK] Seq=4128483149 Ack=687206787 Win=146€ Len=616
[ACK] 5eq=687206787 Ack=4128483149 Win=65700 Len=0

[ACK] Seq=687206787 Ack=4128483765 Win=65084 Len=0

[ACK] 5eq=4128483765 Ack=687206787 Win=1460 Len=1460
[PSH. ACKT Sea=4128485225 Ack=687286787 Win=1468 Len=766

Navigation receiver
LAN :100M base

IP:192.168.1.133




